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“Are your sisters home?”
Addressing adults: First name +
patronymic

1 conjugation: Present Tense

- Stem + ending

- -an+ stem verbs

- Other 1* conjugation verb types: ng+’,
XMB+", 30B+

- Meanings of the Present Tense

Aunanor
TBowm cécTpbl goOma? Are your sisters (at) home?
Ibpa 1 | TBo# céctpel ad6ma? Uto orn Aénarot? Are your sisters (at) home? What are they
doing?

Baas 2 | Bépa unTaer xypHai, a Mama géaer Vera's reading a magazine, and Masha’s doing
3 | JoMAllIHee 3addHue. (her) homework.

Ibpa 4 | A uro THI nénaentb cer6IHs? And what are you doing today?

Baas 5 | A? Hudvero6 oc66ennoro. S umraro muckMa | Me? Nothing special. I'm reading (some)
6 | cayIma paamo. A moToM Mbl MIAEM B KHHO. letters and listening to the radio. And then

we re going to the movies.
Banuna mamo, Uptina, walks in

Ibpa 7 | JoOpblii nenb, MprHa BamfiMoBHa, Kak BBI Hello, Irina, daughter of Vadim how are you
8 | moxuBaere? doing?

Hpuna 9 | 3mpéaBcrByiite, FOpa. Bcé xopomd, cniaciibo. A | Hello, Yura. Everything’s OK, thanks. And

BaauimoBHa |10 | BBI? you?

ﬁﬁ)pa 11 | I'pex :kdJI0BaThCA. I can’t complain.

CaoBapsb

1 | mOMa (at) home

1 | mémaii+ do; make

2 | uwmraii+ read

3 | momamniHee 3amaHMe homework assignment (note soft n” on adjective)

4 |ceromns today (Note that the r is pronounced [B], just like in HHYero, €ro.)

5 | HEYEerd 0cOGEHHOTO nothing special (Another r as [B] in 0c66eHHOTO.)

6 | coymaii+ listen to (no need for a preposition in Russian!)

6 |pammo radio

6 | morom then, after that

6 |mm+’ go

6 |B here: to

6 |xuHO the movies (This is a foreign noun, which never changes its form.)

7 | HOOPHIHA JeHD hello; good afternoon (lit.: good day)

7 | moxuBa+ get along; be doing

7 Kax BB nokuBaete? How are you doing? (This is a pretty standard polite question in Russian.)

11 | Tpex JKamoBaThCA I can’t complain (Literally this fixed expression means sin to complain.)

rpex sin
KATOBA+...CH complain
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16-1 ypok FpammaTuka

16.A  Addressing Adults: First Name + Patronymic

WpwHa MaenosHa (7)

In addition to using the BBI form with Bansa’s mother Uprina, Ibpa addresses her as HpiHa IIdBJI0BHA, i.e., by
her full first name (See Lesson 3 for list) plus what is known as a patronymic (6T4ecTB0), which is based on the
father’s first name. (Sorry, no such thing as a matronymic — yet.)

To form a patronymic, take the father’s full name and then add the ending -{O}Bu4 for men, -{O}BHa for women:

FATHER’S FIRST NAME MALE FEMALE
-{O}Buu -{O}BHa

Anexcanap ATNeKCAHIPOBHY ATneKcaAHIpOBHA

AHgpéit AHIpéeBUd AHIpéeBHa

boprc bopricosuu BopricorHa

Brikrop BrkTopoBHu BrikTopoBHa

Jmarpuit JMaTpHeBIY JMuTpreBHa

I'eopruit I'eoprueBud I'eoprueBHa

WBan WBaHnoBuu WBaHoBHA

Urops Hropesny HropesHa

11aBen (e drops out) [1aBmopmu IlaBmoBHa

LIéTp (stress is on end) IleTpéBHU IlerpéBHA

Crenan CrenanoBuu CrenaHoBHa

If the father’s first name ends in a single consonant + -uif, then the ending becomes -beBHY / -beBHA.

FATHER’S 1ST NAME MALE FEMALE

ending in a single C + uii: -beBHY -b€BHA
AmnaTomin AHaTONBEBHY AHaTONIBEeBHA
Bacnnuii BactinneBuu BacunneBHa
Tennauit I'ensapeBUY I'ensaareBHA
EBrénmii EBrénnepnu EBrénnesHa
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Irregular forms (for reference):

FATHER’S FIRST NAME MALE FEMALE
SkoB SkoBneBHY SkopneBHa
Huxknra Huxntiu Hukntruna
Muxann MuxakioBuu MuxajioBaa
Wnps Wb WnpiHIgHA (1 pronounced )

gb Ask the following people how they are doing. Their father's name is in parentheses:

Example: Bapgsapa (Crenan) [] Jlob6petil dens, Bapedpa CmendnosHa, Kak 6bi noxcusdeme?
1. bopuc (BrkTop) 2. Hanpéxma (KoHCTaHTIH) 3. Anexkcanmp (Cepréii)

4, Mapuna (Ban) 5. ®émop (Muxamnn) 6. Bnamamup (M1ps)

7. Anma (AHZpéH) 8. Ombra (Bacrutmit) 9. Awnton (11ap¢n)

10. Upnna (I'edpruit) 11. Onér (Huxomait) 12. I'amiira (JMATpHI)
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16.6  Present Tense — 1*-Conjugation

16.b.1 Stem + Ending

Like nouns, verbs can be broken down into stems + endings. However, unlike nouns and adjectives, not all verb
stems end in a consonant, and not all verb endings begin in a vowel. In describing how verbs conjugate (form the
present, past, imperative, infinitive, etc.) we will classify them by their stems. Verb stems will end with “+°. First
let’s look at one set of endings for the present tense:

1!.Conjugation Present Tense Endings

SINGULAR I PLURAL
1* (1) -{U} (-y/-10) : 1* (Mb1) -{O}m (-ém/em)
I
2" (1B1) {0 b (-émb/emb) | 2™ (Bb) -{O}te (-éte/ere)
3 (ow/ond/onod) | -{O}r  (-ET/eT) 1 3" (onn) -{Uit (-yr/-10T)
16.6.2 -Al+ Stem Verbs

By far the most common verb type in Russian are -aii+ stem verbs. Once you learn this verb type, you will be
able to conjugate thousands of Russian verbs.

We have already seen the following -aii+ stem verbs:

Aénaii+  padOTaii+ moXkMBAW+ UYMTAN+ caymai+ MoHWMAR+ TepenyTaii+ cHpAmuBaii+ gaii+

do;make  work get along read listen to understand ~ mix up ask give

When we add the 1*-conjugation endings to -aii+ stems, they look like this:

Present Tense: -AA+ Stems

Person / Ending Pronoun | nénaii+ do; make | wuwnrtai+ read naii+” give
Number

1sg -{U} s Nénap YHUTARO Jar

2sg -{O}mnb TBI nénaenb YUTALIIb naéurb

3sg -{O}r OH/OHA/OHO NEnaeT YUTALT naért

1pl -{O}m MBI nénaeM YUTAEM Tagm

2pl -*{O}re BEI nénaere YUTALTE naére

3pl -{U}r OHHU NENaT YUTAIOT Jaf0T
&= | Absolute take-to-the-bank rule: For all 1*-conjugation verbs, in order to form the omit-form

! just add a -7 to the si-form: gafo > maror. Except for a possible difference in stress, there are no

| exceptions. None.
L |
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? Question: 1 thought you said these verbs are -ali+ stem. Where’s the ‘i’? I don’t see any
‘i’ in mémaro, YUTAET, etc.
Answer: You should know better than that. All of the verbs do contain an ‘it’. It’s after

the -a-, and is spelled by a soft indicating vowel, either ‘e’, ‘€’ or ‘r0’. So the
basic sound is as follows:

AéJIaro T{EYn{AYi{U} @/U} is spelled 10°)
pa6oTtaemis  p{A}6{O}T{Ali{O}mb (unsiressed ii{O} is spelled ‘e’)
Aaémn o{A}i{O}mb (stressed it{O} is spelled ‘¢’)

? : Question: What do you mean by the -"{O}- ending in pa6éraems and géraer? 1 don’t

see no stinkin’ ‘o’.

|
|
i Answer: You’re really slipping. Don’t forget that an unstressed letter ‘¢’ may be {O}.

! Granted, the forms padoraer and aénaer don’t reveal the underlying {O}, but
i the form maér sure does. It’s really {O}. So, anytime the Present Tense of a

| 1*-conjugation verb is stressed on the ending, for the TbI, on/4, MbI, BBI forms,

| you will get ‘€”. But don’t write ‘€’ if the stress is on the stem!

As a (stupid but quite effective) mnemonic device, you can call these 1¥-conjugation verbs Up-to-Snuff verbs.
The phrase Up-to-Snuff contains the three vowels ({U}-{O}-{U}) of the 1*-conjugation in the same order they
occur in the verbal paradigm:

Up {U} 1 XKHUB-Y YUTA-10
TBI KMB-€1lIb  YMTA-€IIb  (this ‘e’ is {O})
OH/A4  KuB-€T YHUTA-€T (this ‘e’ is {O})
to {O} ) ,
MBI JKUB-€M YUTA-E€M (this ‘e’ is {O})
BBbI KuB-€Te  uMTa-ere  (this ‘e’ is {O})
Snuff {U} |omi  xuB-yr  umra-ior
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16.  More (Non -AW+ Stem) Up-to-Snuff Verbs

Other 1*-conjugation (Up-to-Snuff) verb types: ux+" go, mus-+" live, 308+" call

These are verbs whose stems do not end in -aii+ but which have the same Present Tense up-to-snuff endings as
verbs like gémaii+ and uuraii+. For now we won’t give these verbs an official name. Just note that all the stems
ends in a consonant, just like the -aii+ stems.

Present Tense: 1%'-conjugation (Up-to-Snuff)
(-an+ stems and others)

PERSON/ NUMBER STEM ENDING WORD
yuTal+ YUTAIO
nénmait+ JIéJaro

Isg PO Uy |
Ha+ uny
JKUB+ KUBY
30B+’ 30BY
JUTaH+ YUTAEIIb
Iémap+ Iéiaellb
2sg e | R ~{Olmp | 2
A+ HAIEIID
JKUB+ JKABENTH
30B+’ 30BEIIb
yuTal+ YUTAET
OH neEmai+ éEmaer
3sg OHA e ~{O}r |7
, I+ HIOET
OHO JKUB+" JKUBET
30B+ 30BET
JUTaH+ JUTAEM
Iémap+ IénaeM
1pl MBI e ~{Olm | ™M
A+ HIEM
JKUB+ JKUBEM
30B+’ 30BEM
JUTaH+ JUTAETE
Iémap+ IéaeTe
2pl BEI e -={O}Te raeTe
A+ Haére
JKUB+ JKUBETE
30B+’ 30BETE
yuTal+ YUTAIOT
neEmai+ JETAOT
3pl OHHU Aa -{U}T Ha\{T
I+ HIYT
KUB+ KUBYT
30B+’ 30BYT
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? ' Question: What a minute. Why are the final consonants of the stems ua+ , suB+ and

30B+ hard only before endings beginning with -{U}: uay(T) / KuBY(T) /
30BY(T), but then the ‘a’ or ‘B’ are soft everywhere else, when the ending
begins with {O}: naéuin, xuBémn, 30Bémn? What’s with this switching
between hard and soft?

Answer: You’re back on track. Really good observation. Yes, the softening before all
the endings beginning in {O} is unexpected, but we’ve seen other cases of
unpredictable softening, as in on, oH{A}, on{O} but on"{l}. Just be happy to
know that this is the case with the entire Russian verb system: all consonants
capable of softening do so before endings beginning with {O}.

16.6.4 Meanings of the Present Tense in Russian

© Good news! Russian has just one Present Tense. In other words, all of the following English sentences are
rendered by the single Russian sentence:

RUSSIAN ENGLISH

I read a magazine [every morning].

. . I am reading a magazine.
S unTaro xxypHan. = , .
I have been reading a magazine [for 3 hours].

1do read a magazine [every day].

gb Listen and repeat:

Example: yutaitc [ s yumdio, mel uwmdeuin, OHA Ywmdem, mbl YumdeMm, 6bl Yumdeme, OHIl YUMo
1. uwmraii+ 2. npénmaii+ 3. um+’ 4. xuB+’

paboTait+ 6. TMOXKUBAI+ 7. cHpammBaii+ 8. maii+’
9. 30Bt+’ 10. ciymaii+ 11. monnmaii+ 12. mokymati+ (buy)

gb Produce the form that is called for on the tape. This is a long, but very important exercise.

Example: YUTAL+ JKypHAT (MBI, OHI) [] Mot uumdem HcypHAdn, oY YUMAIOM HCYPHAL.

xopomo paGoTait+ (51, MbL, ThI, BBI, KOs, erd Mutdqumii 6part, ux poarrend, Anna JIbBOBHA)

KB+ B MOCKBE (MBI, BEL, MOSI CeCTpd, HAIIM AETH, 5, Thl, oHH, “Vpuubl pogitenn, FOpuii Sxoiesnt)
YUTAM+ MACEMa (s, MBI, OHH, BEI, THI, Bacs, ConuHa 1046, Bépa l1apmosHa)

caymrait+ pazno (s, TI, ML, BbL, KOpuH 6pat, Mol cécTpsl, 51, Bopric Wiibiu)

cupammBaii+ (Tel, A, C1aBa, MOH POAMUTENIH, BbI, MBI, IloaiiHa bopricoBHa, MX MIAINIHI Opat)

maii+" (TbI, MBI BEL, i, JleB Hukonaernd, onn, 1, Hatamus MuxaiimosHa)

He TOHUMAN+ (TbI, ML 51, Onbra [14B10BHa, BoI, [18Tp IleTpdBmd, erd poxdTenn)

ui+" B KUHO (51, MBI, OHH, BBI, TI, MO OTEIN, HaII mpodéccop, MAIIMH CBIH)

A A B N ot

308+  (JlomkTa, TBI, MBI, €10 OpaT, I'edpruit MakciMoBu4, 361 CTeIAHOBHA, S, BBI)

10. uro...xénaii+? (ThI, oH, Mama, BB, | eHHAMNI AHIPEEBHY, A, MBI, HX POIUTEIIH)
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Now try some verbs you've never seen before. Don’t forget to note where the stress is.
(Remember, if the stem ends in a consonant other than ‘ii’, the endings for the s1 and oHu-forms
do not soften the consonant.)

Example: Oep+’ take 0 5 0epy, oH bepém, OHU bepym

3Hal+ know L] 51 3Hd10, OH 3Hdem, OHU 3HAIOM
BO3BM+ fake L] 5 .8036MY, OH 8O3bMEM,  OHU BO3bMYM

1. 3Haiir 2. K+ (wait)

3. mymaii+ (think) 4. mowmoraii+ (help)

5. 6ep+ (take) 6. 3ameuaii+ (notice)

7. Oérai+ (run) 8. Bcrait+  (get up)

9. Mo+ (wash) 10. Haun+ (begin)
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Lesson 16 — lomalwHsAA pa6oTta Ums

,@ Exercise1  Form the patronymic for the following:

Example: JKamna (boprc) 0 30pascmeyiime, JKanna bopuicosua!
Bamiam (I'puropmii) ] 30pascmeyiime, Baoum I pucopvesuy!

(You only need to write 3upaBcTCBYiiTE Once)

1. Amnarommii (bopric)

2. Kripa (Mrops) " "

3. Jleonnn (AHaTOmmii)

4, Tamaaa (Muxar)

5. Enéna (Bamnm)

6. Opuii (Opuii) " "

7. Jlapuca (JMATpHiA)

25 Exercise 2  Fill in the verb chart. Pay attention to where the stress is!

UUTAM+ IMOHUMAN+ Jan+’ JKUB+

ThI

OH / OHA

MBI

BEBI

OHH
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2< Exercise 3 Translate into Russian:

1. We are going to the movies.

2. What is Nina’s brother doing? (Best word order: What (is) doing Nina’s brother?)

3. I understand everything.

4. My sisters are listening to the radio.

5. — What are you doing? — Nothing special.
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